Soustraction Avec Des Zéros (])

1000
-479

1000
- 486

1000
-101

1000
- 40

1000
- 284

1000
-179

1000
- 154

Calculez la différence.

1000 1000
- 985 -929
1000 1000
- 337 -416
1000 1000
- 780 -511
1000 1000
-419 - 137
1000 1000
- 188 - 856
1000 1000
- 558 - 742
1000 1000
- 368 - 894

1000
-925

1000
- 857

1 000
- 444

1000
- 204

1000
- 367

1000
- 237

1000
- 686
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Soustraction Avec Des Zéros (J) Réponses

Calculez la différence.

1000 1000 1000 1000
-479 - 985 -929 -925
521 15 71 75
1000 1000 1000 1000
- 486 - 337 -416 - 857
514 663 584 143
1000 1000 1000 1000
-101 - 780 -511 - 444
899 220 489 556
1000 1000 1000 1000
-40 -419 - 137 - 204
960 581 863 796
1000 1000 1000 1000
- 284 - 188 - 856 - 367
716 812 144 633
1000 1000 1000 1000
-179 - 558 - 742 - 237
821 442 258 763
1000 1000 1000 1000
- 154 - 368 - 894 - 686
846 632 106 314
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